

Level 4 Maths Assessment


Test 1

Name:






Class:


Date:


     A (7):              B (7):              C (6):              D (9):                  Total Score (29):              Level:
A
Counting and understanding numbers:
1.
Complete this sequence of numbers.

    1.3        1.6         1.9       [image: image1.wmf]            [image: image2.wmf]  

1 mark  (L4/1)

2.
Write these numbers in the correct places on the Venn diagram.

5
6
7
8

[image: image3.wmf]
[image: image4.wmf]factors of 30

factors of 40


2 marks  (L4/2/20)

3.
342  x  10.
	


1 mark  (L4/3)

4.
Match each box to the number which has the same value.


One has been done for you.

[image: image5.wmf]

[image: image6.png]0.5
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1 mark  (L4/4)

5.
How many quarters are in  1¼ ?.






1¼   =   ⁄₄
	


1 mark  (L4/5)

6.
In a class of 30 children boys outnumber girls by 2 to 1.
How many girls are in the class?
	


1 mark  (L4/6)

B
Calculating:

7.
Write in the missing number. 

[image: image7.wmf]      20   +    [image: image8.wmf]   =    100    ÷    4
1 mark  (L4/7)

8.
Calculate    ( 3  x  4 )  +  14
	


1mark  (L4/8)

9.
A larger bottle of juice will hold 30% more than this bottle.

[image: image9.png]




How much will the larger bottle hold?

[image: image10.wmf]
	ml


1 mark  (L4/10)

10.
Here is a shaded square.

[image: image11.png]A B(8,11)

D(3,6) [






Write the coordinates for point A.

[image: image12.wmf]
	A =
	(         ,         )


1 mark  (L4/11)

11.
Calculate    846  +  478
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[image: image14.wmf]
	


2 marks  (L4/12)
12.
Calculate 13.65 – 2.33
[image: image15.wmf]
	


1 mark  (L4/13)

C
Shape, Space and Measure:

13.
a) Here is a regular hexagon.


Join three of the dots to make an equilateral triangle.


Use a ruler.

[image: image16.wmf]
1 mark  (L4/14)
b) Here is a regular octagon.


Join three of the dots to make an isosceles triangle.


Use a ruler.

[image: image17.wmf]
1 mark  (L4/14)
14.
Draw the reflection of this shape.

[image: image18.wmf]

[image: image19.png]_ mirror line





1 mark  (L4/15)

15.


[image: image20.wmf]A



This rectangle is rotated 90° clockwise about point A.


Draw the rectangle in its new position.


You may use tracing paper.

1 mark  (L4/16)

16.
Measure accurately the longest side of this triangle.


Give your answer in millimetres.

[image: image21.wmf]
[image: image22.wmf]
	mm


1 mark  (L4/17)
17.
Here is a 1cm square grid.


Some of the grid is shaded.

[image: image23.png]tom |

1cm






What is the area that is shaded?

[image: image24.wmf]
	cm2


1 mark  (L4/18)
D
Data Handling
18.
Five children have ticked this table to show on which days they are free to go out.

	Emma
	David
	Lin
	Jack
	Rosie

	Mon
	
	[image: image25.wmf]
	[image: image26.wmf]
	
	[image: image27.wmf]

	Tue
	[image: image28.wmf]
	
	[image: image29.wmf]
	[image: image30.wmf]
	

	Wed
	
	[image: image31.wmf]
	
	
	[image: image32.wmf]

	Thu
	
	
	[image: image33.wmf]
	[image: image34.wmf]
	[image: image35.wmf]

	Fri
	[image: image36.wmf]
	[image: image37.wmf]
	
	
	[image: image38.wmf]






a) On how many days are more than two children free to go out?

[image: image39.wmf]
	


1 mark  (L4/19)

b) On which days are Lin and Rosie both free to go out together?

[image: image40.wmf] ____________________________________________________________

1 mark  (L4/19)

19.
Here is a Carroll diagram for sorting numbers.

Write a number less than 100 in each space.

[image: image41.wmf]
	even
	not even

	a square number
	
	

	not a square number
	
	


2 marks  (L4/2/20)

20.
A school has a quiz each year.


There are two teams.


Here are their results.
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a) In which year did North beat South by 100 points?

[image: image43.wmf]
	


1 mark  (L4/21)

b) In which year did South beat North by the greatest amount?

[image: image44.wmf]
	


1 mark  (L4/21)
21.
What is the mode in this set of numbers?
    3 ,       4 ,        2 ,      3 ,       2 ,      1 ,      3
	


1 mark  (L4/22)

22.
Here are two spinners, A and B.


Each one is a regular hexagon.
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a) For each statement, put a tick ([image: image46.wmf]) if it is true.


Put a cross ([image: image47.wmf]) if it is not true.

[image: image48.wmf]

Scoring ‘1’ is more likely on A than on B.
[image: image49.wmf]

Scoring ‘2’ is more likely on A than on B.
[image: image50.wmf]

Scoring ‘3’ is as equally likely on A as on B.
[image: image51.wmf]
1 mark  (L4/23)


b) Zara spins both spinners.


The score on A is added to the score on B.

She says,


’The sum of the scores on both spinners is 
certain to be less than 7’ .

Is she correct?
Circle Yes or No.
[image: image52.wmf]
Yes  /  No

Explain how you know.

[image: image53.wmf]
...............................................................................................................................

...............................................................................................................................

...............................................................................................................................

1 mark  (L4/23)

